PPES LO

Y

GROUP I MAIN - 2023
NUMBER SYSTEM ASSIGNMENT

—~ I

Find the sumof 2 +4 + 6 +... +80
2+4+6+... +80-6i1 FmBH6L HTewIH

Find thesumof1+3+5+ ... +55
1+3+5+ ... +55-651 m{BHe0 HTEWISH

Evaluate using appropriate Properties

{2 —5} {—4 —8} {—1 2}
X — b —x— e —x—
3 12 6 12 4 3
CUT(HSHSLOTET LIWIL|BeM6NdH OlBTemi(B LOFHIIL| HTewIsb:
{2 —5} {—4 —8} {—1 2}
X — b —x— e —x—
3 12 6 12 4 3
If a person joins his work in 2010 with an annual salary of Rs. 30,000 and
receives an annual increment of Rs.600 every year, in which year, will his
annual salary be Rs. 39,0007
2010-60 QT et eaguid Rs. 30,000 eert uwewfluied GFmammit. Gloguid

@aIoeuTH  auBLIPD Rs. 600 2 oW  eaHul o wieuTsll GBI
SIAUHML U OLewih 2aFHuId  6lhd UL GHH6e0 Rs. 39,000-o15 B(HEHEGD?

Find the common difference and 15t term of A.P 125, 120, 115, 110 ...
125, 120, 115, 110 ... eeip gl BSHOSHTLJouflenauled GuTH lSHHwngFHmBuD 15
US| 2 MILIEDLILLD SHITE0ITS.

In an A.P, sum of four consecutive terms is 28 and the sum of their squares is
276. Find the four numbers

Qb Sl (bSH T Jalmguled b5SbHHS BTG o piliselar gmbHe0 28
OBHILD DuBNleT aUTHBRISTET FnbhHe0 276. DbFH BTG 6INIHEN6TDH HTEHIH.

The sum of three consecutive terms that are in A.P is 27 and their product is
288. Find the three terms.

@B S BHOSHTLY aflmsuled emhs BSSGHS Wam 2 pIliSaleEr gnbBH6
27 wBmId  SeuBmler  OLhESMLIEVET 288  6leNey, DIHSH OBl O MILILHN6NTE
SBITCU0IEb.

Find the sum of the first 25 terms of the geometric series 16-48 + 144-432 +...
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CHENNAI

16 - 48 + 144 - 432 + ... aa&iB3 OQUBHSGHS OFHTLFled 2 6Tem  (IpHed 25
© mIIFHelel FmBHMEVS HTEWISH.

9. If the 4t and 7th terms of a G.P are 54 and 1458 resp, find the G.P

R OUMmBSGHS OFHTLTauflenguled 4 Seughl WBBID 7 SLeudH 2 BIIEHeT (penpGul
54 oB@Ib 1458 erefled, DISHOSHTLT eullengenulss SHTewlsm.

10. Find the common ratio and the general term of the geometric sequences 0.02,
0.006, 0.0018, ....

0.02, 0.006, 0.0018, .... QuEEsE®»d Ot Taflmasefllar QuUTE eldHHHMBHULID
LBEID DIGH6T GUTH 2 MIIHUUID SHT6uIH.

11. Find the geometric progression whose first term and common ratios are a =
256, r=0.5
a =256, r =05 was o miny wBp Gursd oIS CBTGSESLILL (BTN,
SIS W OUHSGHGH OFHTLTauflenFsemend HTewIsm.

12. InaG.P 729, 243,81, .... Find t;
729,243,81, .... aaiB QUBESGHS O TLTeuflnguler 7oz o pIlienLds ST .

13. 1+2+3+...+n=120find *+2°+3*+..+n°
1+2+3+...+n=120aafl60 1°+2°+3 +..+n’e1 WAL HT60I.

14. If P+2°+3+..+n*=36100, then find1+2+3+ ... +n
P+2°+3+..+n°= 36100 eteolled, 1 +2+3 + ... + n &1 wWHOLS SHTEWIH.

15. 26+27+28+...+60

16. If the sum of 3 consecutive integers is 540. Then integers are

SB55BHSH B  cpedim  (pep  WwALSTET Sl BH0sTmE 540  eleaien
SIDOFHIL|BHEETH  SHT6uTH.

17. A number consists of two digits whose sum is 9. The number formed by
reversing the digits exceeds twice the original number by 8. Find the original

number

Qb OJenlgevdd elenlenierl  BeudbImIB6NaT FnBHH0 9. EevdbImIBmen @)L LOTHBHB
HOLEGD BH Bevhs 616w, (WPHemHUI 6TewIemiel  E(HIOL HIeNHS ST IgevId 18
DIHBLD 6160160, DI6N0OI6UGTIENEITSH BHITEU0TH.

18. Ifa,b,c I, marein A.P then the valueofa-4b+6c-41+m=7?
a,b,cl,m aaiug o’ BsH O jaufensuled miniesr a-4b+6c-41+m=7?

19. The difference between a number and its two third is 30 more than one - fifth

of the number. Find the number.
QUH eleTIenBGHD, DIBHT cpeipsled @Feni(h WLMSBGSGD 2 6fTem  alSHHUTFIOTEHISI,
DIFHOT QHFHL @H LMD all 30 DHHD 616160, DHFH 6C16NIENEISH SHT6I0IH.
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20. In a flower garden, there are 23 rose plants in the first row, 21 in the second
row, 19 in the third row and so on. There are 5 rose plants in the last row.

How many rows are there in the flower garden?

R LHBHTLLSHH (1pxhHev auflenguled 23 Gyrend CFgset, @Jewimb euflenguisd
21 Gyreggrs QFsel, cpaSBTD auflmguled 19 Crmemrd OFgser 66B (Wenpuied
Gy OFseT e OHTLTfmgF Siemwlilsd o elenel. SHoLF auflenguled 5
Grregns GFseT @mUler, SIIYHCHT L SHH60 61hHHemel alflenFsHel o eiTermes?

21. There numbers are in the ratio. 2 : 5 : 7. If first number, the resulting number
on the substraction of 7 from the second number and the third number form
an arithmetic sequence, then find the number.

(peiipl  elenideMel  alldlGHLID 2 15 7 eeis.  (IPSHEUMD  6TewT,  @JEUwIL LD
oTemTenlleVl(hhdl 78 SWHSHIT GUEBLILIBLD 6T6wT LOMBILD CLPETIBTLD 61601 DLBIUIGT 6(h
&L (S OHTLT euflenFenul gBLBHIH I, DIGIOIAICHIHN6NTS SHT6wIH.

22.  Write an A.P. whose first term is 20 and common difference is 8
WP He0 2wl 20 e CuTghl alHHWTFID 8 SFeID OBTENIL gl (hdh OHTLT
auflengenul 61(LDHALD.

23.  The 4t term of a geometric sequence is % and the seventh term is ;—i Find the
geometric sequence.

R OUmSGH OBHTLT euflenguie HTATBTSH 2 MBI % IOBMID  SIH6T  GJLOUTS]

® ML gm@’ﬂm, ILOLMHBGHS CFHTLJauflenFenuls HTems.

24. The fifth term of a G.P is 1875. If the first term is 3, find the common ratio.

R QUHSGHSHESTL Jauflengulledr (pHeL o My 3 WBBID MbHSTeudk o miy 1875
G660, DIHGI OIS IBFHD HT6wIs.

25. In a G.P the Product of three consecutive terms is 27 and the sum of the

product of two terms taken at a time is % Find the third terms

R QUmEBGHSH eTLTaflwsulsd DIBHSBHS PSIBI 2 WILIH6T6 OILIHESMBLIGVET
27 WBEDGID SEaiseaiey @reuigrenih 2 miiseler OLHEBHBLENET  Fn[BSHe0 %

aIedlleL, OIHSH CLOSIMI 2 MILIL|HEN6TH HT6HISH.

26. The sum of the digits of a three digit number is 11. If the digits are reversed,

the new number is 46 more then five times the old number. If the hundred
digit plus twice the ten digit is equal to the units digit. Then find the original
three digit number?
R cpalevdd olewnlenlley, EeVHIHIGBT Sl (hHev 11. Bevdamismen @ LO(HbHA
QUGLLDTS GUflend  LOTMASIETT60 LIS 6T60T LIGDIDUI 6lesTenlled gl oL Miend el 46
DFBD USHFHTD B QDevdsdsHFHear B WLBCHTH HIBTD &L BevsHsHmSHDH
L 1QETT60 QBT B BevdHdlD LG 66led, DbFH (LPallevshs  6I6mT16n6uTH
SBITCU0IEb.
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27.

28.

29.
30.
31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

CHENNAI

If1+2+3+ ... +n=666 then find n.
1+2+3+...+n=60606aaie0, N-aT A HT6UIH.

2 8
11’ 13

Which is the greatest?

olh
©|

48 2 3 .
-, =, —, — BauBplen Quflwgl e1gH?
5 9' 11 13@ Bl Pwigl 61l

1?+32+5% +...+51

113 +12° +13° +...+ 28°

The common ratio of G.P a™",a",a™".

a"",a",a™" el CQUHBGHSH CFHTLTJeauflewFulledt GLTH al&Hd

Find the sum of all 3-digit natural numbers, which are divisible by 8?
8 960 UGLLUBLD DIMDIHFH cLpeSlendd @UI6D 6T6RIHTNT FnBFHE0 SHTEIIH.

Which term of the Arithmetic sequence 24, 23%, 22%, 21%,...

24, 23%, 22%, 21%,... g A.P uled 3 eiaiLgl eTHHemanuimalghl 2 mii] QyEG?

Find 12th term of the A.P /2,3V2,5V2,....
J2,342,5¢2,... A.Puiled 126ug 2 @iy wig?

If a, b, c are in A.P than Z—_IZ=?
a, b, c e @ gl BH OHTLT euflenguied o eitenmen erefled Z—_S=?
Find the sum of the finite series 1 + 11 + 111 + ... + 20 terms

1+11+111+ ... +20 o_misen auedy (WPam OHTLJH6eMer FnBH60 HT6wIm.

Find the sum of the Geometric series3 + 6 +12 + ... + 1536
3+6+12+ ... +1536 a3 OQUBHBGHDH OBHTLFT Fn{BHe0 BHT6EIH.

If3+k, 18 -k, 5k + 1 are in A.P then find k.
3+k, 18-k, 5k + 1 gudwienr anl 65 OFmaufleng eefed k- Srewnis.

How many terms of series 1* +2° +3° +... should be taken to get the sum 14400?
P+2°+3 +... ot OFHTLFT THHMA 2 MIILBD6NS Fnl I9aITe0 Fn(BHe0 14400
B HGLD.

Find the total volume of 15 cubes whose edges are 16cm, 17cm, 18cm, .... 30
cm respectively

16 Q.5 17 Q5.5 18 065.5...30 0515 FweaBedB (WPBGW LSS
SleMeYBemeNs  OBTewIL 15 HF FHIRIS6NT Haol  DleMeyBHerlel  Fn(HHenevd
BTG .
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